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SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions
1. What is meant by cash flow statement?

2. State the effect on working capital caused by the following:                                     
                I.       Increase in Cash `1,700

                II.     Increase in Stock `1,600

                III.    Decrease in Debtors `500

                IV.   Decrease in Creditors `2,500

3. What is meant by Ratio Analysis?
4. Calculate the stock turnover ratio from the following:

         Cost of goods sold `65,000

         Sales `1, 00,000

         Average stock `15,000.
5. What is budget?

6. Fixed cost at 50% activity level is `20,000. What will be the fixed cost at 60% and 80% activity levels?
7. What is margin of safety?
8. Calculate BEP: 

P/V ratio: 40%; Total cost: `1,00,000; Variable cost: `60,000.
9. What is ‘Variance Analysis’?
10. Calculate Material Price Variance from the following:
 Standard                     :    2,740 units at Rs. 15 each

 Actual                        :    3,000 units at Rs. 17 each

11. Marginal cost `2,400

Selling price ` 3,000

Calculate P/V ratio.
12. Current Ratio 2.5; Working Capital `60,000; Calculate the amount of current assets and current liabilities.

SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. From the following balances, you are required to calculate the cash from operations:

	Particulars
	31-12-2015

     `
	31-12-2016

   `

	Debtors                                   

Bills Receivable                      

Creditors                                 

Bills payable                             

Outstanding expenses    

Prepaid expenses           

Accrued income                                                              

Income received in advance             

Profit made during the year   


	50,000

10,000

20,000

8,000

1,000

800

600

300

-----
	47,000

12,500

25,000

6,000

1,200

700

750

250

1,30,000


14. Calculate current ratio from the following:

                                                                                   `

                Prepaid expenses                                   20,000

                Debtors                                                  20,000

                Debentures                                          2,00,000

                Machinery                                              50,000

                Creditors                                                40,000

                Short term investment                            10,000

                Stock                                                      20,000

                Bills payable                                          10,000

                Outstanding expenses                            20,000
15.        From the following figures, prepare a material purchase budget for January

           
Materials (in units)                                                              A                             B

           
Estimated stock on 1st January                                        1,600                         600

            
Estimated stock on 31st December                                   2,000                         800

            
Estimated consumption                                                   12,000                      4,400

16.           Selling price per unit      : `50

Variable cost per unit     : `40

Fixed cost                       : `75,000

Calculate: (a) P/v ratio (b) Break even sales.
17.        Find out Labour Variances:  
                                                Standard                        Actual

Output:                         1,000 units                  1,200 units 

Rate of payment:          `6 per unit                  Wages paid with bonus: `8,000

Time taken:                  50 hours                       40 hours
18. A company produces one product and the standard cost card contains the following information.
                                                   Budgeted data               Actual information

Output for the month                      4,000 units                      4,400 units

Fixed overhead                                 `24,000                         `26,000

Variable overhead                            `24,000                         `34,000

Calculate: (a) Fixed overhead cost variance (b) Variable overhead cost variance.

19. Explain the any five differences between fund flow and cash flow analysis.

SECTION C – (2 × 15 = 30 marks)
Answer any TWO questions
20. Prepare funds flow statement from the following data :

            Liabilities         
   2006                  2007                 Assets                 2006         2007   

                                       
      `                       `                                                   `            `
Equity capital               5,000                 5,300                  Cash                 2,000         2,500

Long term debt            1,400                 1,300                   B/R                  2,400         2,700

Retained earnings        2,800                 3,700                   Inventories      3,100         3,200

Accumulated                                                                   Other C/A             800           700

depreciation                 2,100                 2,500                   Fixed assets     5,000        5,800

B/P                               2,000                 2,100 

                               -------------       ---------------                                -------------     ---------------

                                   13,300                14,900                                       13,300      14,900

Additional information:

(a) 
Fixed assets costing `1,200 were purchased for cash.

(b)
 Fixed assets (original cost `400 accumulated depreciation `150) were sold at book 

      
value.

(c) 
Depreciation for the year 2007 amounted to `550 and duly debited to P & L a/c.

(d) 
Dividend paid `300.

21. Following are the ratios to the trading activities of Kanishgadevi Ltd.

       Debtor's      Velocity                      3 Months 

       Stock Velocity                               8 Months

       Creditors Velocity                         2 Months

       Gross Profit ratio                           25 %

 Gross profit for the year ended 31st December, 2015 amounts to `4, 00,000. Closing stock of the    year is `10, 000 above the opening Stock. Bills receivable amount to `25,000 and Bills payable to `10,000.

    Find out:  (a) Sales 

                     (b)  Debtors 

                     (c)  Closing Stock and 

                     (d)  Creditors

22. The budgeted expenses for the production of 10,000 units in a factory are furnished below:
                                                                            Per unit

                                                                                 `
                Materials                                                 70      

                Labour                                                     25

                Variable overheads                                 20

                Fixed overhead (1, 00,000)                    10

                Direct variable overhead                          5

                Selling expenses (10% fixed)                 13

                Distribution expenses (20% fixed)           7

               Administration expenses (50,000)             5

                                                                          _______

                                                       Total Cost       155

                                                                          _______

            Prepare a flexible budget for the production of (a) 8,000 units and (b) 6,000 units.

23. The sales turnover and profit during two years were as follows:

                                  Year                              Sales                             Profit

                                                                          `                                     `
                                  2008                           1, 40,000                         15,000

                                  2009                           1, 60,000                         20,000

        Calculate:

        (a) 
P/V Ratio

        (b) 
Fixed Cost

        (c) 
Break-Even point.

        (d) 
Sales required to earn a profit `40,000.

        (e) 
Profit when sales are `1, 20,000.

———————
[P.T.O.]
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